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Seat No.

Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C300001

Subject Name: Basic Mathematics
Time: 2.30 PM TO 4.00 PM
Instructions:

Attempt all questions.

Each question is of 1 mark.

Ell o

allowed)
5. English version is authentic.

Make suitable assumption wherever necessary.

Date:7-06-2017

Total Marks: 70

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not

No. | Question Text and Option

log, 1=........

1. |A. logq 2 B. logqg 2
C. 0 D. |1
log, 1=........

1 A, log, 2 B. logqq 2
C. 0 D |1
Log tanB+logcotb=.......... (0<9<§)

2. [A. Log sin 0 B. |1
C. 0 D | Log cosf
Log tanf+logcotd—.......... (0<9<§)

2 [A Log sin O B. |1
C. 0 D | Log cosf
Logl.log2.log3......... log2015=........

3. | A 2015 B. |1
C. 0 D. | None of the above
Logl.log2.log3......... log2015=........

3 [A. 2015 B. |1
C. |0 D Asugl 3.

Which of the statement is false?

4 A. log,g 10=1 B. | Log(2+3)=log2*log3
C. logqo 1=0 D | Log(1+2+3)=logl+log2+log3.
53y (Aot iy otell?

4. A log 10=1 B. | Log(2+3)=log2*log3
C. logqg 1=0 D | Log(1+2+3)=logl+log2+log3.
logqg 2=0.3010 then log, 10=.........

A. 699 B. 1000
5 301 301
C. 301 D. |0.6990
1000
logq 2=0.3010 cllog, 10=.........
A, 699 B. 1000

> 301 301

C. 301 D. |0.6990
1000
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logs 243=.......
6. | A 3 B. | 243
C. 5 D |0
logs 243=.......
6 | A 3 B. | 243
C 5 D. |0
10g35\[35= ..........
. A V35 B. |35
C 1 D. 1
10g35\/35= ..........
7 A V35 B. |35
C 1 D 1
log,2 p? .log,2 q*=-----
8 |A p? B g>
C. 0 D. |1
log,2 p2log,z ¢*=...........
8 | A p? B q®
C 0 D. |1
ol Log(x+2)+log(x-2)=log 21 Al x=........
Ta_[2 B [2
C 5 D |21
Log(x+2)+log(x-2)=log 21 then x=.........
9 |A 2 B |-2
C 5 D |21
log,(logg 36)=logy 2l x=.........
Iy 12 B [6
C 36 D |0
log,(logg 36)=logy 2 then x=.........
10 |A 2 B |6
C 36 D |0
a=[} 9. B[° Z]rﬂ |4A+2B | =,
-U v_q P 7 7 L
A=) 1 _o[men . B 12
s 14 1 2 D [V [5_ 2]
A=l Ol gl Zlpen Bapipl. 3 4l
(1|0 1P~ 12 ol =5 =7 D [5  —2]
A 1 -3 1l B [2 -3 1]
PEA= 31 “ |Qadia- D [0
et =
16 AT 1 ol [T 2] B 5 2]
A N 351 B 43 11
adjA v T D | |” v -
‘i G O 1-. ) 1 72 D — 1 s} L
L 0] o2} then 24+ 8] =
117’2 ra F2N B R 1g A
Ad4A D [21p [
Mafrpf Aggp and Borfherymairiy AB confains fofal ..., €lements.
13 %AA—lelJ and B= lz 1 it |4A-|—15|—:B 6
17 8 D [12]B [o
C 4 D |-1
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@‘@%aﬁ%ﬁﬁaﬁlﬁ‘}%ﬁ?@ AB4 5B oL serded A #BlaL
1 1 B |adjA
ol 2 A2 B 16 g
LG S Y~ 4 DT 112
PBUAJYRAAHRSeRIATATA = TALTATFD
18 Al"A= O —Z 1 then cofactorof 515 ....... B |adjA
|4 1 [+ ‘42 D 0
141 |8 B |-8
|C 2| 3]is.......... Matdix D |1
19 Colnmn 8 ° 1R [Raw
S ua{e ] D | null
TS B S b .fil éc‘tl‘%iéb{uiﬁq ...... 8-
12 (5] 4 AR
e B -8B |42
C 1 D 1
C | allen 8 . 1D |02
AL t%t;} prmzxsj then A+A" matrix. -
2105 Calumn B |[A|B |Row
C Square D | null
P EC— — D[ Noe of the ahove
A B
20 || 7 A= fd@;]then A+AT = &tz
B A
1500 [t D | 902
IFA—[ 10 S]then AT= .. D None of the above
21 1A 1 5 [1 3
0 3 5 0
C 3 0 D [0 3
2 1 5 5
1 T
°Elz\_1: O]cILA
21 7 1 5] 1 3
0 3 5 0
3 0 D 0 3
1 51 1 §
IfA:[_31 1] then A%=
oy A [—8 3] [ 8 —5]
| 5 51 -5 3
C [ 8 5] D 8 5 ]
-5 3 5 -3
|3 1 7
%ﬂf\_[__l h ]ct ......
) A [—8 3] [ 8 —5]
| 5 51 -5 3
C [ 8 5] D 8 5§ ]
-5 3 5 -3
| sinf —cos@|_
” cos8  sing |
A sin? @-cos? @ B |1
C 0 D | cos? @-sin @
sin@ —cos@
23 |cos @ sing |
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A sin? @-cos? @ B |1
C 0 D | cos? 0-sin2 @
i A3 and B athen BAis ...
24 [A 3x3 B |2X2
C 2x3 D |3x2
%l A 30 B 2l BA ... 8l
A 33 B |2X2
C 2x3 D |3x2
If matrix A is of 2x2 then adj(adjA)=.........
25 [A A? B | adjA
C A | DA
ol Alls A 2x2 8latdladj(adjA)=.........
25 (A A1 B |adjA
C | A | DA
Matrix Iz hastotal .......... Elements.
26 [A 3 B |6
C 9 D |12
A0S Loll $A ... Y2 slo.
26MA I3 B |6
C 9 D |12
2 1 1 & B
if A_[3 0] and B= [ . 3] then A12B=. ...
27 | A [—4 11 [ 4 11]
11 -6 11 -6
C [ 4 —11] D [ 4 —11]
L 11 : 6 —11 -6
_ _[1 _
If A= [3 0] and B= [ . 3] then A+2B=.......
27 | A [—4 11 [ 4 11]
11 -6 11 -6
C [ 4 —11] D [ 4 —11]
11 6 —11 -6
1 4 1
mz[l . ] then 2l
28 9 —4 5
A 22 B |12
C 2 D |0
1 4 1
°ﬂA=l1 4 1|dl2al=
28 9 —4 5
A 22 B |12
C 2 D |0
Principle Period of Sin—+cos>is ........
29 [ A 3 B |2n
C 12n 61
Sin S+ cos Zof Jul wltelclHlet .......... 8.
29 1A 3 B |2
C 12n 61
30 | Sin (-x)=.........
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A Sinx B | -sinx
C Sin(l) D | None of the above
X
Sin (-x)=.........
30 A Sinx B | -sinx
C Sin(l) D | Qsugel.
X
tan 2% =
4
a1 A 5 B |0
4
C 4 D |1
- 5
tan 2= —
4
31 A 5 B |0
4
C i D |1
5
sin? 30 + cos? 60=.......
3 A 1 B 3
2 4
C 0 D |1
sin 30 + cos? 60=.......
3| A 1 B 1
2 2
C 0 D |1
- m _2m 3w ___4mw _
sinZ. sin—-sinJ-sin—.= ...........
A 1 B V3
33 -
C i D0
/2
nZ. sinZE sin 2 sin 7
sin=. sin==sin=S-sin—.= ...........
A 1 B 73
33 -
C i D0
/2
sin"!x+cos ™ Tx=...........
34 |A 0 B |1
C T D=
2
sin"Yx+cos ™ Tx=..........
14 A 0 B |1
C n D |1
2
Cosl5.sin75+cos75.sinl5=............
351A 0 B |-1
C 1 D (2
Cos15.s8in75+cos75.sinl5=............
351A 0 B |-1
C 1 D (2
If 9;: then sin 26—=........
36 [A 1 B 1
V2 2
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C [ 1 ID |0
ﬂe{cﬂ sin 20—........
36 [& T B I
V2 2
C 1 D |0
Degree of an angle 12—” 1S ..ol

37 A 1350° B | 675°
C 2700° D | None of the above
157 .

—Z QUM ML ... 8.

371A 1350° B | 675°
C 2700° D Asuee@.
¥ sin™?! =§ then cos 1x=......

A 3 B 4

38 7 5
C 5 D 4

4 3
oflsin~ ! x =%<:L1 cos lx=......
3 4

38 A - B -

4 5
C 5 D 4

4 3
Cos3A=.........

39 A 4cos3A —3cosA B | 3sinA-4sin®A
C 3cosA-4cos3A D | None of the above
Cos 3A=..........

39 |A 4cos3A —3cosA B | 3sinA-4sin3A
C 3COSA-4COS'3A D QS'QQLO‘L[%
COS(Z—E-B)_ .........

40 A -sin0 B | sin0
C Cos0 D | -cosO

3n
COS(TG)— .........

40 A -sind B | sin®
C Cos0 D | -cosO
Cot225°%=.........

41 | A 0 B |1
C -1 D 73
Cot225°%=.........

41 | A 0 B |1
C -1 D V3
i tanA:zl and tanB=§ then tan(A+B)=........

0 A 1 B |1

o)
C 1 D 5
5 6
42 | BtanA=—ioltanB="cll tan(A ‘B)=.......
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A 1 B |1
6
C 1 D 5
5 6
Cos(micos™ 2= ...
A 3 B 3
43 5 5
C 4 D | None of the above
5
Cos(n+cos 1% =T
A _3 B 3
43 5 5
C g D | Asuge.
sin? 21°+sin? 69°=.........
a|A |0 B 1
2
C 1 D |1
sin? 21°sin? 69°=.........
44| |0 B 1
2
C -1 D |1
For AABCcos(A+B)=.........
45 | A -cosC B | cosC
C sinC D | None of the above
AABCHlcos(A+B)=.........
45 | A -cosC B | cosC
C |sinC D | fisug.
Sin(2n-0)=........
46 | A Sin6 B | -sinf
C Cosb D | -cos®
Sin(2n-0)=........
46 | A Sinf B | -sinf
C Cos0O D | -cosO
(2i+3j+4k).(-i+2j-3k)=.......
47 [A -8 B |8
C -4 D |4
(2i+3j+4k).(-i+2j-3K)=... ...
47 | A -8 B |8
C -4 D |4
fx=(1,23),y=C3, ) then xxy=...........
48 [ A (-7,5,-1) B |(7-5-1)
C (-7,-5,1) D | None of the above
le=(1,2,3),7=(2,3,1) AXXJ =..........
48 | A (-7,5,-1) B | (7,-5.-1)
C (7,-5,-1) D | QsugB.
X and Y are mutually perpendicular if angle between them is ......
49 (A 0 B r
2
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¢ |n |D [2x
X UalY wruAso{latalcloglal R slola sl woll ... AL,
49 [ A 0 B T
2
C Il D |2z
Angle between vector x=(1,-1,0) and y=(1,0,1)1is ........
50| A T T
3 2
C I1 D | None of the above
x=(1,-1,0) and y=(1,0,1) cL2AsL wRll ....... 22,
50 | A r i
3 2
C 11 D | Asuael@.
0(-6,1,1)+(3,2,D0=.........
51 A 22 B V93
C V22 D |93
0(-6,1,1)+3,2,D0=.........
51(A 22 B V93
C V22 D |93
If a=2i+j ,b=i-2j then 2a+t3b=.......
52 A (79'4) B ('794)
C (-7,-4) D | (74)
%\ a=2i+j ,b=i-2j dl 2a+3b=.......
S21A (7-4) B |(-74)
C (-7,-4) D |(7.4)
If a=3i-k-2j and b=6i+7j+4k then angle between the vectors a and b is
53 [ A 0 B T
2
C s D | None of the above
ol a=3i-k-2j Wl b=6i+7j+4k &lal clla Ul b LU woll ... 2.
53| A 0 r
2
C m D | Asugetd
If 1,m,n are direction cosines of vector a then 12 + m24+n’=..........
54 A 0 B |1
C -1 D | None of the above
%\, m, nA® 2la oll (2 sS\UBet 8lat Al 12 + m24n2=.........
54 | A 0 B |1
c |- D | fsuge@.
axh=.........
55 [ A Oaxb0 B | -(axb)
C -(bxa) D | None of the above
axb=.........
55 A Haxb(] B | -(axb)
C -(bxa) D | None of the above
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Force acting on the particle F and the displacement of the partical is d then
workdone w=

6 A [Fxd B | dxF
C d.F D | None of the above
58l UR Glolg el Falal el uReuMelad sle] iloticd 8l dl stel
W= i

56
A Fxd B | dxF
C d.F D | QsueetB.
X=21+5j-k then Ox | ST

57 |A V30 B V28
C V29 D | None of the above
X=2i+5j-k dl | X | =

57 [A V30 B V28
C V29 D | Asug.
Ifxy=0thenxandyare......... vectors.

58 [A Parallel B | perpendicular
C Unit D | None of the above.
°a.x.y=0 ol x sl Vooreanans ltasla.

sg | A UH( AR B | du
C AsH D | Qsuee .
| 3i-4j+5k [ =........

59 |A V50 B |18
C 55 D | None of the above.
| 3i-4j+5k | =........

59 |A V30 B |18
C 55 D | fsueet .
(234).(-12.3)=.........

60 | A 8 B | -8
C 10 D | None of the above.
(2,34).(-1.2,3)=.........

60 A 8 B |-8
C 10 D | fsueet .
Area of circle with radiusris ......

61 | A r? B | 2nar
C IIr D | None of the above.
r Baauaion adasg dasa ....... L.

61 A r? B | 2ar
C IIr D | fsueeB.

62 Diameter of a circle 1s 14cms then circumference of the circle1s ......... cm.
A |44 |B |22
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C 154 D | None of the above.
14cm clralol ddaell uRd ........cm. A2,
62 (A 44 B |22
C 154 D | fsuge3.
In an equilateral triangle ABC AB=BC=AC=a then area of triangle ABC
18........
63 | A V3 B V3
4 2
C Eaz D | None of the above.
2
Aoy AsleL ABCHL %l AB=BC=AC=a &l <l A5leL ABC of@laisn
........ AL
63 A V3, B V3,
—a —a
¢3L 2
C ~a? D | Asugei@.
Area of trapezium whose parallel sides are Scms and 4 cms and the perpendicular
distance between the sides is 2em is ........ cm?
64TA [45 B |9
C 18 D | None of the above.
U 6L UGESIRLHL U HLALR olayleg HIW Scms Mol 4 cms §lal dal ollayl
6q | ] Ao R 2em glal ol uMclol Urslgle AAsa. ... cm? UL,
A 4.5 B |9
C 18 D | Asuget(3.
Area of thombus whose diagonals are 15cm and 8 ecm is ........
65 | A 120 B |23
C 60 D | None of the above.
UH O UASLRLHL cUlUoAHIU 15¢m Aol § cm &l dl A SlRle] AdLga
2
65 | et 4
A 120 B |23
C 60 D | QsueletB.
Toal Surface area of the cylinderis .......
66 | A 27mr(r+h) B |nr?h
C ar(r+h) D | None of the above.
lOUSLRe] YR S0 Y ... 8.
66 [ A 2nr(r+h) B |ar?h
Volume of a cube whose length of one side 6cm is ........ cm®
67 |A 216 B |36
C 21.6 D | None of the above.
67 Bofl B s0il%go] MW 6cm. &l ol UM Uole] UASOL .............cm3. UL
A 216 |B |36
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C 21.6 D Asuge.
Curved surface area of cylinder whose height is 4cm is 176 sqg.cm then its
radius 1s ....cm.

BA T[4 B [7
C 14 D | None of the above.

4 cm.GULS YRl L slaUsRell asuuléle) Aoism 176 A A8l dl dell

6 B llaa
A 4 B |7
C 14 D | Asuoee@.
Area of square 1s 16 sq.cm then its perimeteris ......... cm.
69| A 16 B |8
C 12 D |4
ARUg) &asm 16 ALAH &l ol do{l uRAIA ... 2L
69 | A 16 B |8
C 12 D |4
1 litre =.........cm3.
70 | A 100 B | 1000
C 10000 D | None of the above.
1litre =.......... cm3,
70 | A 100 B | 1000
C 10000 D | fsuee .
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